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gFjp I 

 vy;yh tpdhf;fSf;Fk; tpil jUf. 

01. ghj;jpunkhd;wpy; fhzg;gLk; midj;J tplaq;fSk; vg;ngauhy; miof;fg;gLk;. 

1. tfpghfk;    2. ghj;jpur;rpj;jupg;G   

3. ghj;jpug;gz;GUthf;fk;  4. ghj;jpu xd;wpg;G 

02. gpd;tUtdtw;Ws; Mw;Wiff; fiytbtk; my;yhjJ. 

1. eldk;  2. ehlfk;  3. ,ir  4. Xtpak; 

03. ebfdpd; Fuy; ntspg;ghL. 

1. Mq;fpf mgpeak;  2. M`hu;a mgpeak;  

3. rhj;tPf mgpeak;   4. thh;r;rpf mgpeak; 

04. ehlf vOj;JU xd;wpd; gpujhd %yfq;fspy; xd;W> 

1. ghj;jpuk;  2. ghu;itahsu;; 3. newpahsu; 4. ebfd;  

05. ehlfj;jpy; ,uz;L ghj;jpuq;fs; ciuahLtJ vt;thW miof;fg;gLk;. 

1. nrhy;yhly;  2. ghj;jpuk;  3. Nkhb  4. fU 

06. “rq;fpypad; ehlfj;ij vOjpatu; ahu;? 

1. jpyfehjd;     2. rz;Kfypq;fk; 

3. fzgjpg;gps;is   4. tpj;jpahde;jd; 

07. xUtu; ghj;;jpuk; Vw;gJ vt;thW miof;fg;gLk;. 

1. rpj;jhpg;G  2. Ckk;  3. tfpghfk;  4 ebg;G  

08. ghj;jpunkhd;wpd; clypay; gz;ghf miktJ 

1. cau;e;jNjhw;wk;    2. murpay;thjp  

3. fzPnud;wFuy;    4. Kw;Nfhgf;fhud;  

09. Ckk; rhu;e;j muq;f tpisahl;Lf;fspy; xd;W. 

1. MLk; tPLk;    2. nghw;rpiy  \ 

3. fhfk; caph;g;ngwy;   4. FUl;L Ml;Nlh 

10. “murdpd; Gj;jhil” vDk; ehlfj;jpd; Mrpupau;. 

1 rp.n[a;rq;fu;   2. NtY}u; rutzd;  

3. khit.epj;jpahde;jd;   4..k.rz;Kfypq;fk;  

11. “khztd;” vDk; tfpghfk; vf;fhyj;jpw;Fg; nghUj;jkhFk; 

1. tPL 2. itj;jparhiy 3. Nfhapy; 4. ghlrhiy 

12. “xU ghj;jpuk; ntspg;gLj;jp epw;Fk; clw;Njhw;wg;ghL” 

1 nka;epiy  2. rpj;jupg;G  3. mirT 4 epiy 

Kjyhk; jtiz kjpg;gPl;Lg; guPl;ir - 2022 

aho;g;ghzk; ,e;Jf; fy;Y}up 

juk; - 9 

ngah; / Rl;nlz; .................................................................................. 

ehlfKk; muq;fpaYk; 

 

Neuk; :- 2 kzpj;jpahyk; 
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13. ghtj;jpid “nka;g;ghL” vd Fwpg;gpl;ltu;. 

1. guju;  2. mup];Nuhl;by; 3. njhy;fhg;gpau; 4. njhk;rd; 

14. Ckk; epfo;j;Jk; ebfUf;F mtrpakw;w mgpeak; 

1. thh;r;rpf mgpeak;   2. M`hu;a mgpeak;  

3. Mq;fpf mgpeak;    4. rhj;tPf mgpeak; 

15. gpd;tUtdtw;Ws; fw;gidg; ghj;jpukhf miktJ. 

1. kpUfq;fs; 2. gwitfs  3. Nga;fs;  4. kdpju;fs; 

16. gpd;tUtdtw;wpy; tho;tpaw; rlq;F.  

1. kuzr;rlq;F 2. Ntl;ilj;jpUtpoh 3 #ud;Nghu; 4. khdk;G+ 

17. jpUkzr; rlq;fpd; cr;repfo;thff; nfhs;sf;$baJ. 

1. jhypfl;Ljy;    2. tpUe;J  

3. Mrpthq;Fjy;    4. thu;j;ijg;ghLnfhLj;jy; 

18. kuzr;rlq;Ffspy; fhzg;glf;$ba ehlfg;gz;G. 

1. kupj;jtu; myq;fhpf;fg;gly;  2. cwTfspd; fjwy; 

3. Cu;tyk;      4. Nkw;$wpaahTk; 

19. rq;fpyp ehlfk; xU 

1. tuyhw;W ehlfk;  2. rpWtu; ehlfk; 

3. . ,yf;fpa ehlfk;  4. r%f ehlfk;   

20. cyf ehlfjpdk; nfhz;lhlg;gLtJ 

1. khu;r; 27 2. [dtup 27  3. ngg;utup 27 4. Vg;uy; 27 

(20 x 2 = 40 Gs;spfs;) 

gFjp II 

KjyhtJ tpdhTf;Fk; Vidatw;wpy; VjhtJ 4 tpdhTf;Fkhf nkhj;jk; Ie;J 

tpdhf;fSf;F tpil jUf. 

(01) 1. ehlfj;jpd; gpujhd %yfq;fspy; xd;W jUf? 

2. Ckk; rhh;e;j muq;ftpisahl;L xd;W jUf? 

3. ghj;jpu tfpghfk; vd;why; vd;d? 

4. nka;epiy vd;why; vd;d? 

5. rpWtu; ehlfq;fs; ,uz;L jUf? 

6. r%f ehlfq;fs; ,uz;L jUf? 

7. Gjpjspj;jy; vd;why; vd;d? 

8. ifg;nghUl;fs; ,uz;L jUf? 

9. tho;tpay; rlq;Ffs; ,uz;L jUf? 

10. muq;ftpisahl;L vd;why; vd;d? 

( 12 Gs;spfs;) 
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(02) 1. tfpghfk; vd;why; vd;d? 

2. itj;jpau; ghj;jpuk; tfpf;Fk; gy;NtW tfpghfq;fisAk; xU tiuG  

   %yk; tiue;J fhl;Lf? 

3. ghj;jpu tfpghfq;fSf;Fkpilapy; gz;Gfs; NtWgLfpd;wJ vd;gij  

  kdq;nfhz;L cly; cs uPjpapy; Vw;gLk; khw;wq;fis cjhuzk; %yk;  

  vOJf 

(3 +5 + 4= 12 Gs;spfs;) 

(03) 1. ghj;jpug;gz;GUthf;fk; vd;why; vd;d? 

2. ghj;;jpug;gz;GUthf;fj;jpy; nry;thf;Fr; nrYj;Jk; fhuzpfs; ahit? 

3. ghj;jpunkhd;wpd; cstpaw; gz;Gfis cjhuzq;fs; %yk; tpsf;Ff. 

        (3 + 4 + 5 = 12 Gs;spfs;) 

 

(04) 1. muq;ftpisahl;L vd;why; vd;d? 

2. muq;fpy; ebfUf;Fupa gapw;rpfs; vit? 

3. ckf;Fj; njupe;j muq;ftpisahl;Lf;fs; Ie;jpidf; Fwpg;gpl;L 

mt;tpisahl;L xd;wpid tpisahLk; Kiwia tpsf;fpf;$Wf. 

(2 + 3+ 7 = 12 Gs;spfs;) 

 

(05) gpd;tUtdtw;wpy; VjhtJ %d;W tplaq;fSf;F rpW Fwpg;G vOJf. 

1. rpWtu; ehlfk;  

2. ghj;jpu xd;wpg;G 

3. ghj;jpur;rpj;jupg;G  

4. Gjpjspj;jy; 

(3 x  4 = 12 Gs;spfs;) 

 

(06) 1. rlq;F vd;why; vd;d? 

2. rkar; rlq;Ffs; 3 jUf? 

3. tho;tpay; rlq;Ffspy; xd;wpd; ehlfg; gz;Gfis tpsf;Ff? 

(3 + 3 + 6 = 12 Gs;spfs;) 

 


